\YourRadio,ControjCanSpecialist) INSTALLATION INSTRUCTION

INCLUDES

1x ALUMINUM TRUSS

1x SERVO MOUNT

1x LINK MOUNT

4x M2.5x12mm Socket cap Screw

2x M3x10 mm Round head socket cap screw
4x M3x12 mm Round head socket cap screw
2x M3x20 mm Counter Sink

6x M3 Nonloose nuts

SERVO ADJUSTMENTS
Change the Servo Mount
position to suit your needs.

Servo Mount Servo Mount
Direction A Direction B

> I®IN O

WWB””MEJL’I”EEL’.#”M Copyright © Boom Racing Co. Ltd




Optional Assembly for Reversed Axle
(for reversible gearbox output to eliminate torque twist)

Cut away axle link mount

Copyright © Boom Racing Co. Ltd

BoomBaCI:

YOUR R/C HOP-UPS SPECIALIST

What is a good hop-up? For most people a
good hop-up is simply a matter of performance.

We believe a good hop-up is about design and
improvement. It's about making a conscious effort
to better the R/C hobby industry and the people we
work with every day. We design and develop all of
Boom Racing’s R/C hop-ups to ensure you get the
most up-to date and unique products available.

With our passion for R/C cars, we are constantly

updating and upgrading our parts to ensure our
supporters are enthusiastic and excited for what’s

to come next.

https://www.facebook.com/boomracingrc

)

#boomracing

eNJDY BEING A BADASS




